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EREE] WO g (et 2 mn] SFE | aag (Do) ERIEE TANA | —RIER Tk
R 4359 | 9130 | 5061 290 92 479 310 169 16 20 3,544 141
5{RERTE 4,049 8,199 4,365 245 70 441 309 82 16 10 3,054 138
THZE 646 1,281 671 74 9 91 29 9 i- 1 439 19
BEE 601 1,079 519 55 i- 21 17 3 10 1 410 2
ZEI 388 1,954 1,116 44 3 124 114 19 51— 794 13
ZERS 938 2,192 1,382 56 22 153 90 43 1 7 965 45
ZEINE 976 1,693 677 16 36 52 59 8 i- 1 446 59
BL&LET 310 931 696 45 22 38 1 87 0 10 490 3
REHIRFT 87 258 213 2 i- 21 87 i- - 102 1
HEX AT 17 153 109 |- - - - - - 109
HEEXFR 13 52 40 |- - 12 - - - 28
= EHIRFT 49 185 130 27 i- 2 - - 10 91
J\X H5RFR 72 211 152 16 2 2 1 1= - - 131
INE R HERF] 72 72 52 |- 20 1 — - - 29 2
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